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INDUSTRIAL ENGINEERING AND MANAGEMENT

fruffa e . 392 [ferhas 31 - 60
Time allowed : 3 Hours] [Maximum Marks : 60
e (i) FE-vFHATEEEG gt d )

Note : There are THREE sections in the paper A, B and C.

(ii) QT QT I GGAT1 F T 10 97T & I o0 | Y 97 T 3 T8 vd
41 10 9777 TGI8 TFR F FFA & 8 |

Answer all the 10 parts of the question Ne. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QP & F 8 Yol 7 G [T 6 5971 & I o0 | Y% 597 3 3HF #1805
$7%1 5 S / 50 1=l 7 37 e |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QTN T F 6 3991 4 8 87 4 5971 & It A0 | ¥9% Y97 8 3 &1 8 vq
39H71 15 137 / 150 912l 7 3o v |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) Yed% QI & Y1 591 &1 FHER U G 8T AT |
Solve all the questions of a section consecutively together.
(vi) 1 G137 3 g1 #1 Rt 7 3 sgare @ A= 8 |

Only English version is valid in case of difference in both the languages.

FHEH -7
Section — A
1. (i) veie ® feraeht Sueregar W fanf 94 st 7

(a) ®NER (b) et AT

(c) ufEeE (d) T g
Plant location does not depend on availability of :

(a) Market (b) Raw Material

" (c) Transport (d) Scenic Beauty

(10f4) P.T.O.
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(i) wfeF A-3m3e FEIH N IAT AR |
(a) favcrvomens &-33He (b) HYATYH A-3THe
(c) T3 a-3mee (d) T & HIE TE
Process layout is also known as :
(a) Analytical layout (b) Synthetic layout
(¢) Static product layout (d) None of these
(iii) @ ey § WiHE 2 -
(a) e fafa srerm (b) ael w1 A

(¢) TafazmmmwsEams  (d) wa« nfa e
Work study involves :

(a) Only Method Study

(b)  Only Work Measurement

(¢) Method Study and Work Measurement

(d) Only Motion Study

(iv) oA wm. (g Futfa afa e yonef) § e 2
(a) wn.A.um, (fafy aug 9m)
(b) TE.UE.UH. (FH1 S JorTed)
(¢) wum.dua. (ga nfq awa A=51)
(d) I9tiaa T+t

P.M.T.S. (Predetermined Motion Time System) include :
(a) M.T.M. (Method Time Measurement)

(b) W.F.S. (Work Factor Systems)

(¢) B.M.T.S. (Basic Motion Time Study)

(d) All of these

(v) wE.EgHE. & ae ]

(a) wifeaeh! gE fagam (b) wifegdh w9 fFEm
(c) wifegeh U fa=o (d) wifesh gea fzam
SQC stands for

(a) Statistical Quantity Control (b) Statistical Queen Control
(c) Statistical Quality Control  (d) Statistical Cost Control

(vi) #.d.um. # e nfafafy =

(a) Afshan g 999 (b) =gAaH g& g9
(c) ¥ g w9 (d) 3itHa g&a 993
In CPM a critical activity has :

(a) Maximum Slack (b) Minimum Slack

(¢) Zero Slack (d) Average Slack
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(vii) &0 ST & wauE & faga & -

(a) & favre= (b) ftrepr ve e
(c) = &6 wwan (d) 3Iutiea Tuft
Henry Fayol’s principle(s) of management are :
(a) Division of work (b) Authority & Responsibility
(¢) Unity of Command (d) All of the above
(viii) Taferdt wehm & Emraa 1 S Sar 2
(a) @1 ETA (b) i TS
(c) T@Ud =% T (d) @1, W% Ud HEicHS J13
Military type of organisation is known as :
(a) Line Organisation (b) Functional organisation
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(¢) Line & Staff organisation  (d) Line, Staff & Functional organisation

(ix) v, fagermor & 3ugm g g

(a) #WHuad (b) v (fixd.)H

(c) =t fEm (d) ¥ A HIE A

ABC analysis is used for :

(a) CPM (b) PERT

(¢) Inventory Control (d) None of these

(x) Hoasm, H fafa @i 2 -

(a) et fafy (b) BrEmH Y fafy

(c) = fafy fafy (d) asl % i 6 n fafy

Which is not a method of Depreciation ?

(a) Straight Line Method (b) Diminishing Balance Method

(c) Sinking Fund Method (d) Product of Year Digit Method
Y — ot
Section - B

e T~ H13E Hl FEaT I ! dehATeh] i feARET |

Write down the techniques to improve plant layout.

fyfir - 37%a5 & HaTe % fore get wfsmn i d&v § aagse |

Explain in brief the basic procedure for conduct of method study.

T fro & Jeva o |

Write down the objectives of quality control.

TITaA % WTed 3R 2T YH & #re =R fefEn |
Differentiate between line & staff type of organisation.

(1x10)

(3)

3)

3

3

P.T.O.
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6.

9.

10.

{5

1Z.

13.

14.

15.

gt % ABC faveraw i auzmsy |

Explain ABC analysis of inventory. (3)
Wik §HY & TUET I GHITET |

Explain the calculation of standard time. (3)
TaY® & S Bl Gy |

Write down the functions of a manager. 3)

“BIE" Ieg 1 IgTaTvT Afgd sqred Hifsu |

Explain the term “Depreciation™ with example. 3)
7 — ot
Section - C

foreft 3am & foru e w59 & weeds farfian |

Write down the criteria for selection of site of an industry. (8)

&4 T1aa & feru gwg e 0 i e wfa @) fawan & s |

Explain in detail the basic procedure to make a time study for work measurement. (8)
e 3R fg-wfeamm e arsmn 1 faam 3 gagmdu |
Explain in detail, single & double sampling inspection plan. (8)

HIE HE9A Ya9H & eifded ferfigu va sdar % 997 % foe 39 s areh 999 s
=i feifigu |

Write down the responsibility of Human resource management & write the selection
procedure adopted for selection of employee. (8)

AT 1 i o g1 webr (fafert) 1 avia fifsw |

Explain two methods to find out depreciation. (8)

291 %A o WevH & e fagia & smen fifiu |
Explain the main principles of management by Henry Fayol. (8)




